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PARTS OF A DIVISION SENTENCE 2 

18 ÷ 2 = 9 
_____ divided by ___ equals ___. 

The dividend is _____. 

The divisor is _____. 

The quotient is _____. 

20 ÷ 5 = 4 

_____ divided by ___ equals ___. 

The dividend is _____. 

The divisor is _____. 

The quotient is _____. 

24 ÷ 4 = 6 

_____ divided by ___ equals ___. 

The dividend is _____. 

The divisor is _____. 

The quotient is _____. 

14 ÷ 7 = 2 

_____ divided by ___ equals ___. 

The dividend is _____. 

The divisor is _____. 

The quotient is _____. 
 
 
 
_____ divided by ___ equals ___. 

The dividend is _____. 

The divisor is _____. 

The quotient is _____. 

 
 
 
_____ divided by ___ equals ___. 

The dividend is _____. 

The divisor is _____. 

The quotient is _____. 

 
 
 
_____ divided by ___ equals ___. 

The dividend is _____. 

The divisor is _____. 

The quotient is _____. 

 
 
 
_____ divided by ___ equals ___. 

The dividend is _____. 

The divisor is _____. 

The quotient is _____. 

 

6 

3 2 1 5 3 0 

7 

4 1 2 8 3 2 

3 4 
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PARTS OF A DIVISION SENTENCE 2 ANSWERS 

18 ÷ 2 = 9 

18 divided by 2 equals 9 

The dividend is 18 

The divisor is 2 

The quotient is 9 

20 ÷ 5 = 4 

20 divided by 5 equals 4 

The dividend is 20 

The divisor is 5 

The quotient is 4 

24 ÷ 4 = 6 

24 divided by 4 equals 6 

The dividend is 24 

The divisor is 4 

The quotient is 6 

14 ÷ 7 = 2 

14 divided by 7 equals 2 

The dividend is 14 

The divisor is 7 

The quotient is 2 
 
 
 
21 divided by 3 equals 7 

The dividend is 21 

The divisor is 3 

The quotient is 7 

 
 
 
30 divided by 5 equals 6 

The dividend is 30 

The divisor is 5 

The quotient is 6 

 
 
 
12 divided by 4 equals 3 

The dividend is 12 

The divisor is 4 

The quotient is 3 

 
 
 
32 divided by 8 equals 4 

The dividend is 32 

The divisor is 8 

The quotient is 4 
 

3 2 1 5 3 0 

7 

4 1 2 8 3 2 

3 4 

6 


